

3. Proof of Theorem 2

Objekttyp: **Chapter**

Zeitschrift: **L'Enseignement Mathématique**

Band (Jahr): **15 (1969)**

Heft 1: **L'ENSEIGNEMENT MATHÉMATIQUE**

PDF erstellt am: **24.04.2024**

Nutzungsbedingungen

Die ETH-Bibliothek ist Anbieterin der digitalisierten Zeitschriften. Sie besitzt keine Urheberrechte an den Inhalten der Zeitschriften. Die Rechte liegen in der Regel bei den Herausgebern.

Die auf der Plattform e-periodica veröffentlichten Dokumente stehen für nicht-kommerzielle Zwecke in Lehre und Forschung sowie für die private Nutzung frei zur Verfügung. Einzelne Dateien oder Ausdrucke aus diesem Angebot können zusammen mit diesen Nutzungsbedingungen und den korrekten Herkunftsbezeichnungen weitergegeben werden.

Das Veröffentlichen von Bildern in Print- und Online-Publikationen ist nur mit vorheriger Genehmigung der Rechteinhaber erlaubt. Die systematische Speicherung von Teilen des elektronischen Angebots auf anderen Servern bedarf ebenfalls des schriftlichen Einverständnisses der Rechteinhaber.

Haftungsausschluss

Alle Angaben erfolgen ohne Gewähr für Vollständigkeit oder Richtigkeit. Es wird keine Haftung übernommen für Schäden durch die Verwendung von Informationen aus diesem Online-Angebot oder durch das Fehlen von Informationen. Dies gilt auch für Inhalte Dritter, die über dieses Angebot zugänglich sind.

3. PROOF OF THEOREM 2

Let S^3 be the unit sphere in the euclidean 4-space E^4 . By an orthonormal frame in E^4 is meant an ordered set of vectors e_α , $0 \leq \alpha \leq 3$, satisfying

$$(9) \quad (e_\alpha, e_\beta) = \delta_{\alpha\beta}, \quad 0 \leq \alpha, \beta, \gamma \leq 3,$$

where the left-hand side is the scalar product of the vectors in question. The space of all orthonormal frames can be identified with the group $SO(4)$. We introduce in $SO(4)$ the Maurer-Cartan forms $\omega_{\alpha\beta}$ according to the equations

$$(10) \quad de_\alpha = \sum_{\beta} \omega_{\alpha\beta} e_\beta$$

or

$$(11) \quad \omega_{\alpha\beta} = (de_\alpha, e_\beta).$$

It follows from (9) that

$$(12) \quad \omega_{\alpha\beta} + \omega_{\beta\alpha} = 0.$$

Exterior differentiation of (10) gives the Maurer-Cartan structure equations of $SO(4)$, which are

$$(13) \quad d\omega_{\alpha\beta} = \sum_{\gamma} \omega_{\alpha\gamma} \wedge \omega_{\gamma\beta}.$$

There is a fibering

$$(14) \quad SO(4) \rightarrow S^3 = SO(4) / SO(3),$$

with the projection defined by sending the frame $e_0 e_1 e_2 e_3$ to the unit vector e_0 .

Suppose a smooth surface

$$(15) \quad M \rightarrow S^3$$

be described by the vector e_0 . We restrict to frames such that e_3 is the unit normal vector to M at e_0 . There are two choices for e_3 , any one of which is called an orientation of M . Suppose M be oriented. Then the frames are defined up to a rotation of the vectors e_1, e_2 in the tangent plane. In other words, our restricted family of frames is a circle bundle over M , for which the structure equations (13) are valid.

The condition that e_3 is a normal vector at e_0 implies

$$(16) \quad \omega_{03} = 0.$$

Taking its exterior derivative and using (13), we get

$$\omega_{01} \wedge \omega_{13} + \omega_{02} \wedge \omega_{23} = 0.$$

Since M is an immersed surface, we have $\omega_{01} \wedge \omega_{02} \neq 0$ and Cartan's lemma allows us to set

$$(17) \quad \omega_{13} = a\omega_{01} + b\omega_{02}, \quad \omega_{23} = b\omega_{01} + c\omega_{02}.$$

The condition for a minimal surface is the vanishing of the mean curvature:

$$(18) \quad a + c = 0.$$

Let

$$(19) \quad \alpha = \omega_{01} + i\omega_{02}, \quad \beta = \omega_{13} + i\omega_{23}.$$

The structure equations (13) give

$$(20) \quad \begin{aligned} d\alpha &= -i\omega_{12} \wedge \alpha, \\ d\beta &= -i\omega_{12} \wedge \beta. \end{aligned}$$

Under a rotation of e_1, e_2 both α and β will be multiplied by the same complex number of absolute value 1. It follows that

$$(21) \quad \alpha \wedge \bar{\beta}, \quad \alpha \bar{\beta},$$

which are exterior and ordinary two-forms respectively, are globally defined on our oriented surface M .

Suppose from now on that M is a minimal surface. Condition (18) can be written

$$(22) \quad \beta = A\bar{\alpha}, \quad A = a + ib.$$

In this case the first form in (21) vanishes identically, while

$$(23) \quad \alpha \bar{\beta} = \bar{A}\alpha^2.$$

Taking the exterior derivative of (22) and using (20), we get

$$(24) \quad dA + 2iA\omega_{12} \equiv 0, \quad \text{mod } \bar{\alpha}.$$

The induced riemannian metric on M has an underlying complex structure which makes M into a Riemann surface. We wish to show that

the form in (23) is a quadratic differential in the sense of Riemann surfaces. For this purpose let z be a local complex coordinate on M , so that

$$(25) \quad \alpha = \lambda dz .$$

Then we have, locally,

$$\alpha\bar{\beta} = (\lambda^2 \bar{A}) dz^2 .$$

Exterior differentiation of (25) and use of (20) give

$$d\lambda + i\lambda\omega_{12} \equiv 0, \quad \text{mod } dz .$$

Combining with (24), we get

$$\frac{\partial}{\partial \bar{z}} (\lambda^2 \bar{A}) = 0$$

i.e., the coefficient of dz^2 in $\alpha\bar{\beta}$ is holomorphic.

Since M is of genus zero, the quadratic differential must vanish. This implies $A = 0$ and that M is a great sphere.

The proof given above is not essentially different from those of Almgren and Calabi. The main idea of using the quadratic differential in surface theory goes back to H. Hopf. The formalism developed in this proof should also be useful in the study of other problems on surfaces in S^3 .

4. A FORMULA ON NON-PARAMETRIC MINIMAL HYPERSURFACES IN EUCLIDEAN SPACE

Instead of proving formula (2) we will establish a more general formula for a non-parametric minimal hypersurface in the euclidean $(n+1)$ -space E^{n+1} , which seems to have an independent interest.

Suppose $x: M \rightarrow E^{n+1}$ be an immersion of an n -dimensional manifold M in E^{n+1} . We consider orthonormal frames $x e_1 \dots e_{n+1}$ in E^{n+1} , such that $x \in M$ and e_{n+1} is the unit normal vector to M at x . We have then

$$(26) \quad \begin{aligned} dx &= \sum_i \omega_i e_i, \\ de_i &= \sum_k \omega_{ik} e_k + \omega_{i,n+1} e_{n+1}, \quad 1 \leq i, j, k, l \leq n, \\ de_{n+1} &= - \sum_i \omega_{i,n+1} e_i, \end{aligned}$$